Physics- harmonic motion

Description
Read chapter 10, section 1-4. These points will count toward your homework grade.
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1. Question Details Notes Question: CJ7 10.CQ.002. 
Question part 

Submissions 

	1 
	2 

	0/2 
	0/2 


The drawing shows identical springs that are attached to a box in two different ways. Initially, the springs are unstrained. The box is then pulled to the right and released. In each case the initial displacement of the box is the same. At the moment of release, which box, if either, experiences the greater net force due to the springs? [image: image3.wmf]
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both boxes experience the same net force [image: image5.wmf]

the box in the top picture     [image: image6.wmf]

the box in the bottom picture 
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Provide a reason for your answer.
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2. Question Details Notes Question: CJ7 10.CQ.003. 
Question part 

Submissions 

	1 
	2 

	0/2 
	0/2 


In Figures a and b, the shadow moves in simple harmonic motion. 
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	(b)



Where on the shadow's path do the following occur? 

(a) the velocity is equal to zero
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(b) the acceleration is equal to zero
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3. Question Details Notes Question: CJ7 10.CQ.004. 
Question part 

Submissions 

	1 
	2 

	0/2 
	0/2 


A steel ball is dropped onto a concrete floor. Over and over again, it rebounds to its original height. Is the motion simple harmonic motion? [image: image17.wmf]
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yes [image: image19.wmf]

no     

Justify your answer.
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4. Question Details Notes Question: CJ7 10.CQ.008. 
Question part 

Submissions 

	1 
	2 

	0/2 
	0/2 


An electric saber saw consists of a blade that is driven back and forth by a pin mounted on the circumference of a rotating circular disk. As the disk rotates at a constant angular speed, the pin engages a slot and forces the blade back and forth, in the sequence (a), (b), (c), and (d) shown.. 
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Is the motion of the blade simple harmonic motion? [image: image24.wmf]
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yes [image: image26.wmf]

no     

Explain.
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5. Question Details Notes Question: CJ7 10.CQ.009. 
Question part 

Submissions 

	1 
	2 

	0/2 
	0/2 


Is more elastic potential energy stored in a spring when the spring is compressed by one centimeter than when it is stretched by the same amount? [image: image30.wmf]
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yes [image: image32.wmf]

no     

Explain.
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6. Question Details Notes Question: CJ7 10.CQ.010. 
Question part 

Submissions 

	1 
	2 

	0/2 
	0/2 


Suppose that a grandfather clock (a simple pendulum) is running slowly. That is, the time it takes to complete each cycle is longer than it should be. Should one shorten or lengthen the pendulum to make the clock keep the correct time? [image: image36.wmf]
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shorten [image: image38.wmf]

lengthen     

Why?
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7. Question Details Notes Question: CJ7 10.CQ.011. 
Question part 

Submissions 

	1 
	2 

	0/2 
	0/2 


Consult Concept Simulation 10.2 to review the concept that lies at te heart of the answer to this question. In principle, the motion of a simple pendulum and an object on an ideal spring can both be used to provide the basic time interval or period used in a clock. Which of the two kinds of clocks becomes more inaccurate when carried to the top of a high mountain? [image: image42.wmf]
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spring [image: image44.wmf]

pendulum     

Justify your answer.
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8. Question Details Notes Question: CJ7 10.CQ.013. 
Question part 

Submissions 

	1 
	2 

	0/2 
	0/2 


Two people are sitting on playground swings. One person is pulled back 4° from the vertical and released, while the other is pulled back 8° from the vertical and released. If the two swings are started together, will they both come back to the starting points at the same time? [image: image48.wmf]
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yes [image: image50.wmf]no     

Justify your answer.
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